STAEERSHBRATESE - RHTEHE (BrI5I)

(BAL:FM, %)

(1) E RBERRRISE 9] ) ) () (%) (Oh) CY) ) *) €)

DFAEE SR3EE W MR

5 = . TR REHTH swpskgy | aup-amat | ewm | +asier
FHEE R FEE Bkt 7 —) 7)— )| (7/9-1) x 100 (7/4-1) X100
1 B R & FFRBRE 7,038,852 20.1 6,804,774 20.0 6,804,774 20.0 234,078 234,078 3.4 3.4
®|2 — B A #H & 1 0.0 1 0.0 1 0.0 0 0 0.0 0.0
3 fER B KR O FEK 1,400 0.0 1,400 0.0 1,400 0.0 0 0 0.0 0.0
4 E BE X H & 26,450 0.1 69,601 0.2 69,601 0.2 A 43,151 A 43,151 A 62.0 A 62.0
5 X H O & 24,874,855 71.2 24,231,096 71.2 24,231,096 71.2 643,759 643,759 2.7 2.7
6 A & 2,969,375 8.5 2,882,503 8.5 2,882,503 8.5 86,872 86,872 3.0 3.0
A7 #% I A 27,278 0.1 26,281 0.1 53,851 0.1 997 A 26,573 3.8 A 49.3
54 A A i 34,938,211  100.0 34,015,656  100.0 34,043,226  100.0 922,555 894,985 2.7 2.6
1 # % ¢ 540,375 1.6 474,239 1.4 474,239 1.4 66,136 66,136 13.9 13.9
ml2HR B & % 23,901,570 68.4 23,240,647 68.3 23,240,647 68.3 660,923 660,923 2.8 2.8
33 = % & A 21 10073027 288 9,889,969|  29.1 9,889,969|  29.0 183,058 183,058 1.9 1.9
4 EEFEXENYHE 10 0.0 10 0.0 10 0.0 0 0 0.0 0.0
5 Rk & T X B 361,668 1.0 348,729 1.0 348,729 1.0 12,939 12,939 3.7 3.7
6 2 & % 1 0.0 2 0.0 2 0.0 Al Al A 50.0 A 50.0
Hl78 X ®© £ 61,560 0.2 62,060 0.2 89,630 0.3 A 500 A 28,070 A 0.8 A 31.3
;-4 H = H 34,938,211  100.0 34,015,656  100.0 34,043,226  100.0 922,555 894,985 2.7 2.6




(BAL: FH. %)

(2) %A M EERFR =31 g ) V) (=) (%) ) CY) ) 0] ©)
SRAERE SR3EE R HERR

X5y & TR | MR HTH RHTH s | ANmsEEL | csam | emer
THE R EL THHE Rk 7—) () — )| 7/9-1) x 100{ (7/4-1) X100
2 | 1 i 21 & 495,298  99.9 502,161 99.9 502,161 99.9 A 6,863 A 6,863 A 1.4 A 1.4
2 ## I A 632 0.1 632 0.1 632 0.1 0 0 0.0 0.0
A 74 A =y # 495,930/  100.0 502,793 100.0 502,793 100.0 A 6,863 A 6,863 A 1.4 A 1.4
B |1 B P - ¢ 495,930/  100.0 502,793 100.0 502,793 100.0 A 6,863 A 6,863 A 1.4 A 1.4
H|5% H =y &t 495,930/  100.0 502,793 100.0 502,793 100.0 A 6,863 A 6,863 A 1.4 A 1.4
(B FH. %)

(3) By H EBALIL B /R (7 ) V) (z) (1) ) CY) %) 0] ©)
DRAERE SRSEE AR HER R

=5y * TR | M 4OTR BatTH skg-suE | ammosmE | cakm | cwne
THEHE Rk FHRE Rk M- ()= (7/9-1) X100| (7/4-1) X 100
1 £ & # & X A 24,528 62.3 24,192 62.0 24,192 62.0 336 336 1.4 1.4
| 2 & A & 12,808 32.5 12,788 32.8 12,788 32.8 20 20 0.2 0.2
A |3 ¥ X A 2,045 5.2 2,045 5.2 2,045 5.2 0 0 0.0 0.0
54 A B § 39,381 100.0 39,025 100.0 39,025 100.0 356 356 0.9 0.9
|1 B O ¥ ¥ B 39,381 100.0 39,025 100.0 39,025 100.0 356 356 0.9 0.9
H | H & Ein 39,381 100.0 39,025 100.0 39,025 100.0 356 356 0.9 0.9




(HAL: FH. %)

(4) TR BRI =3 7 ) ) (=) ) o) &) @ *) (€))
SFAEE SF3EE R HERR

X5y s P . SR RHTH T
THHE Rk THEE Rk V) (7)—(D)| (7/9-1) X100| (7/4-1) X 100
1 & # &R B # 6,069,466 19.7 6,072,529 20.3 6,072,529 20.3 A 3,063 A 3,063 A 0.1 A 0.1
2 AR R OFHE 520 0.0 510 0.0 510 0.0 10 10 2.0 2.0
|3 E BE X #H & 6,978,969  22.7 6,687,231 22.4 6,687,231 22.4 291,738 291,738 4.4 4.4
4 X EeRMN & 7,937,021 25.8 7,689,488 25.7 7,689,488 25.7 247,533 247,533 3.2 3.2
58 X H & 4,231,256 13.8 4,126,320 13.8 4,126,320 13.8 104,936 104,936 2.5 2.5
6 # A & 5,532,946 18.0 5,314,626 17.8 5,314,626 17.8 218,320 218,320 4.1 4.1
AT 1)'g A 237 0.0 315 0.0 315 0.0 A T8 A T8 A 24.8 A 24.8
8 M PE I A 27 0.0 26 0.0 26 0.0 1 1 3.8 3.8
7 A =y & 30,750,442  100.0 29,891,045  100.0 29,891,045 100.0 859,397 859,397 2.9 2.9
1 & % - 781,758 2.5 816,073 2.7 816,073 2.7 A 34,315 A 34,315 A 4.2 A 4.2
| 2 TERRGEMSE 28,199,747 91.7 27,304,557 91.3 27,304,557 91.3 895,190 895,190 3.3 3.3
3 E & B x & 27 0.0 26 0.0 26 0.0 1 1 3.8 3.8
4 % X H £ 19,658 0.1 18,633 0.1 18,633 0.1 1,025 1,025 5.5 5.5
s BMXBEXER 1,749,252 5.7 1,751,756 5.9 1,751,756 5.9 A 2,504 A 2,504 A 0.1 A 0.1
i H =y # 30,750,442|  100.0 29,891,045  100.0 29,891,045 100.0 859,397 859,397 2.9 2.9




(BAL: TFH. %)

() B m A ERER & F 2] “N ™ () @) on €)) ) “n (E))
SFAEE FFBEE b W R

5y * TR | MR AT B TH O D - -
THE R THRE AR - (7)— | (7/9-1) X100{ (7/4-1) X 100
1 ®EE S ERBR 5,267,178|  81.2 4,703,188  82.2 4,703,188  82.2 563,990 563,990 12.0 12.0
w2 EABETCFEES 266 0.0 266 0.0 266 0.0 0 0 0.0 0.0
3 i A & 1,195,022]  18.4 1,006,972]  17.6 1,006,972  17.6 188,050 188,050 18.7 18.7
A4 I A 25,795 0.4 10,003 0.2 10,003 0.2 15,792 15,792 157.9 157.9
B A A& 3 6,488,261  100.0 5,720,429  100.0 5,720,429|  100.0 767,832 767,832 13.4 13.4
1 # % # 209,980 3.2 156,688 2.7 156,688 2.7 53,292 53,292 34.0 34.0
= papREzER 6,267,781|  96.6 5,563,241  97.1 5,553,241  97.1 714,540 714,540 12.9 12.9
w2 B X H @ 10,500 0.2 10,500 0.2 10,500 0.2 0 0 0.0 0.0
moH & 3 6,488,261  100.0 5,720,429  100.0 5,720,429|  100.0 767,832 767,832 13.4 13.4
(BEAL:FH. %)

(6) Ak A TSR R =3 2] “N V)] () @) o €3] ) ¢n =@
STAERE DF3EE AR HRER

X5 & LOITEE | Rk HOTH BE TR swp-su | aup-smE | caum | amnt
TEH 30424 TR 35824 M= ()= (7/9-1) X 100| (7/4-1) X 100
|1 THEREZSHEAS 532,500  20.5 482,000(  12.7 482,000  17.4 50,500 50,500 10.5 10.5
2 A & 2,071,300|  79.5 3,324,800  87.3 2,291,200]  82.6| A 1,253,500] A 219,900 A 37.7 A 9.6
Ae A& F 2,603,800]  100.0 3,806,800]  100.0 2,773,200]  100.0] A 1,203,000 A 169,400] A 316 A 6.1
EAREETEEEE 2,603,800] 100.0 3,806,800]  100.0 2,773,200] 100.0] A 1,203,000 A 169,400 A 316 A 6.1
M Ww & # 2,603,800] 100.0 3,806,800]  100.0 2,773,200] 100.0] A 1,203,000 A 169,400 A 316 A 6.1




(BAL:TFM. %)

(7) IR BT AR E o) “) ) (=) ) 6] *) @ ¢ @
STAERE SBEE AR BRI
X5 % X HITH it TR T I — A U
YO THE | R

THEE i And=a THE WKL =) M—@)| 7/9-1) x 100{ (7/4-1) X 100
|1 l)'d A 1,517,654/ 100.0 1,494,741  100.0 1,494,741  100.0 22,913 22,913 1.5 1.5
A | A = E 1,517,654/ 100.0 1,494,741  100.0 1,494,741  100.0 22,913 22,913 1.5 1.5
|1 A & % 1,517,654/ 100.0 1,494,741  100.0 1,494,741  100.0 22,913 22,913 1.5 1.5
o[ H & & 1,517,654| 100.0 1,494,741  100.0 1,494,741  100.0 22,913 22,913 1.5 1.5
(8) BF R T EMBALE BRI 2F (B4 1. %)

) “) W) (=) ) o) &) @ 0 @

STatEpE ST3EHE WA HRER

5 & PR | MR S0TH RaTH wug—aug | AMmosmEL | caum | -
Big X R FEE R 7= (7)—D| (7/9-1) X 100| (7/4-1) X 100
1 A & 2,295 3.9 11,399 15.7 11,399 15.7 A 9,104 A 9,104 A 79.9 A 79.9
® |2 3% g A 42,663  72.9 42,434|  58.3 42,434 58.3 229 229 0.5 0.5
3 & /1 & 13,579 23.2 13,579 13,579 i e
A rm & | 18,964|  26.0 18,964|  26.0 A 18,964 A 18,964 o 2
53 A = Ei 58,537|  100.0 72,797 100.0 72,797|  100.0 A 14,260 A 14,260 A 19.6 A 19.6
L 1*%&5‘% 58,537  100.0 72,797 100.0 72,797  100.0 A 14,260 A 14,260 A 19.6 A 19.6
o H B Ei 58,537  100.0 72,797 100.0 72,797|  100.0 A 14,260 A 14,260 A 19.6 A 19.6




